e AR - L AR e S5400m] SIE ABE it ke IRIB

WA

FRk254:8 A 31 H (1) ~9A 1A (A)

FLdk—

7=
5

.

Rs)

=]

25 PIEETTRKE EREHOS
A IRRHITRE EEit s ARV AR AR T R IR S, I DX AR R R
H{F (e iz 2hL 3fir 47 5h7 353 7fir 53
9ALH %F-100m BN #h=R(2) 11.90|/k A (1) 1196~ 1EK(2) 1197 K& #Ar(2) 12.05| +4 K1) 12.12| R R(2) 12.20|H & F0#(1) 12.38
R:-1.9 S i Vg B 1 2T B 2 TR
8A3LH %-200m Kl EHA2) 23.17 | B iE(2) 23.31|H~ 1EXEQ) 23.51 /NP SF—)(2) 23.83| M K (2) 24.12|B3)I1 #624(2) 24.13| 1M K1) 2421 |8H Q) 24.80
J2:-0.5 R SR S BT o {Eatn 2 i AL
9B 1H 5 7-400m Kl EHA2) 51.83|FAL Q) 52.26 |/NIFSF—)(2) 52.66| &l U(2) 53.51| KA &) 53.84| Mt K #(2) 54.15|B 18 KER(2) 54.24| 1P #.#(2) 55.89
TR B HIKIT A B B PR ST R RASHE 5
SH3LH 5 7-800m e KAE2) 2:00.08[A 1+ E(1) 2:00.60[HEi% HHIH2) 2:03.45|FEA (1) 2:04.38| KA NE©2) 2:07.78|/N fFER(1) 2:08.03|HJ11 KHE(2) 2:10.19|8K BE(2) 2:13.93
Bl T2 BT B Bl o BT R B B TAE B ST R S
9B 1H 5 71500m R KIEQ) 4:18.53|HEl% HHIE2) 4:19.82| 1 HRA(L) 4:24.26 M E R 4:26.46 |91 HEA(Q2) 4:27.27[3RzH  HERE (1) 4:27.58| AL 4REEZ A (1) 4:34.63|HEA (1) 4:36.10
Bl T2 Bl B B BT R SIEEAL e B TAE B S AL L
SH3LH 5 75000m e Aok 16:21.43|Fi%y HEKX(Q2) 16:31.78| &8 Fa%(1) 16:34.96 |41  FIE(2) 17:02.85| (Ll ELSE(2) 17:19.35|85AKK BHAEQ2) 17:20.74E7] #41(2) 17:23.36 |/l E #(1) 17:39.36
SIEETAE B BRI =R P RASHE & B TR B ST
9A1H BF-110mH PEH fE) 15.95 HJE Fnf(2) 17.69 (M4 72k (1) 19.09(#EH  K(2) 19.91
(1.067m) J&:-1.1 (367 i IR TR YIRS
8H31H B 7-400mLl B IRKER(2) 59.21 W #(2) 59.95|/H  K(2) 1:00.77 |44 7=k (1) 1:01.64(@tE  R©) 1:05.25 /% B (1) 1:06.24 & H HEE©) 1:06.39
BT BRI B BT R Bl e P BIFE T B T
9A1H 5 7-3000mSC e AEQ) 10:20.16| =48 1) 10:20.64 | Fii%F AKX (2) 10:41.83|#8HE LK) 10:44.19|88K  BHHAEQ2) 10:44.28| =] #i4r(2) 10:59.62| k%  Z&2(1) 11:41.94| K& FnZ=(1) 12:22.04
RASHE & AT BT B BT e B SIIEE AL S i
- E S 1[0)) 25:25.94|HH  EZHE(1) 27:13.81 | 1L HH #EAFI(1) 27:50.25| %M HI(2) 28:45.34 (g IR 35:53.50
BASIRY I ER000mW i Y41 s YissimE SIS
o0 JE 45.22|$IEE IR 45.62 |8 L 45.82 |8 = 46.17 i - AR E 46.63[## T3m 46.83| %At = 49.19|HE 4% & 49.89
TR 1L P A (L) B A&RB(2) Fafs ZRIR(1) AJE Fniv(2) Fifi HEYR(L) P L) i wRR()
8H3IH| H¥4X100mR |FHMH {@&EQ) At & HEE K@) WD I FRE W) JIE Ae=k1) [ 1 RS=PN¢)) FREFEE 5(2)
ERAPN (6)) Al ) A () AHIE BEIR(2) [SL ) P SE W) R H5H(2) AR BHARQ2)
s () KIE EIr(2) /NP S if(2) B E(2) P A(2) A EH2) 8 ERRQ) & HOREEQ)
BT 3:34. 11| B 3:37.25 | BIEE I 3:39.73| iR 3:41.05|#I¥ T %5 3:41.49| 361 = 3:42.56 [ #IFALLS & 3:45.11|EUEH S 3:47.83
HEH R(2) Kf Q) HIRE ) M A(2) A #EH©2) ERCAPN ()} R BE2) B (D)
9H1H J1-4X400mR  |/NBF S —H(2) Hx IEKRE) SIS 0)) [ERE ) WAL k(1) P (L) BEH E2) e ME)
A %) $ak BET(2) ARG ML) FRE BIK0) Al FEYR(1) PR ) D KAL) JIRL E#(2)
B EKRR(2) SE EE2) KIE Q) L) S KIEQ) B Q) By R JA(1) AR Q)
e fHiE BRIRQ) Im70(4:M Z82) Im70(B R ZZH12) Im45[FH M — 1) 1m45
BASIRL PR | e s it 15 T g
b ey PR RN 4m10
8H31H B Ham ik .
9A1H e AR Ffi(2) 6m03(+0.8) [ K1) 5mb4(+3. DK (1) 5m29(+1.1)|#iftE #EYR(1) 5m29(+1.3)[ A TERE(D)  5m29(+0.5)[H%: #E4h(2)  5m23(+1.3)|HEE 4 (1) 5ml9G+1.5)| LA (1) 4m91(+2.2)
A S LR = ZARB5mO3(+1.7) [ §I1#E T3 Pl T T MR B et /AFRAmM8I(+0.5)
8H31H 57—k % #Eth(e)  12m00(+1.0)|BER 7Z2HI2) 11m57(+0.9) [/ &A1) Hm43(+1.)| K& (1) 10m71(+1.6)
M I T3 R B T3
SH3LA BT TEH e 13m68|fH  Jal(2) 13m28 | Eh(2) 12m15| 6% FREQ) 10m38| A 5-3(1) 10m36 | 7l FH(2) Im83 | AiHR(2) 8m95( 1L LEE?) 8m74
(6.000kg) iRl SIFE LR ] B T BEAE B PIE e =
9A1H BT o E@) 35mb5 |l ER(Q2) 3Imo9[4 (1) 30m40(f& ]  E(2) 29m76 | Tl FH(2) 25m84| H L #iA(1) 24m28 | HAH B2 4h(2) 22m28 (1@ Eth(2) 21m95
(1.750kg) YIRS SRR IRE e e HEAE R s T B
9H1H B v i Q) 42m58| 8 K—(1) 31m30[HiA HF(1) 30m39| A% (1) 28m94| % FR(L) 18m94
(6.000kg) T I T3 R B T 3 B3
8H31H ERT s A 45m27(Bho H(2) 42m69 | A (2) 3Tm34 (A E—ER(1) 35m80[#EH  FA(2) 32m75 | HAH B2 (2) 29m53 | AT Hith(1) 29m39| =il M) 28m71
2 FJE B B B P EZil] B T3 I e Ry =R




e AR - L AR e S5400m] SIE ABE it ke IRIB

WA

FRk254:8 A 31 H (1) ~9A 1A (A)

Ao —

)

25 PIEETTRKE EREHOS
T PIRHIG e i | e & PR E R SR 3G HIEE X R R R
H (e 1z 2fT 3L 4fT 5h7 67 {53 53
9ALH #%100m AR IE3Q2) 12.92| 4 HEQ) 12.96| & M 2&(2) 13.86| H i EB2) 13.86[dbE A1) 1411/ F%5(2) 14.23)#M #Q) 14.85|A4H (1) 15.74
JE:-1.4 RIS YT A Bl AL B RASHE 5 R SIEETANE B ST
8A3LH #ZF-200m 5 EEQ) 25.70 () H#23E3R(2) 26.34 /N aE(2) 26.89| LA FLE(2) 27.47|48 221(1) 27.75|1EfE HE&EQ) 29.83 (/M1 7135(2) 30.20|AH (1) 30.65
JEL:+0.7 B TR RIS B RAEHE & P PR FEHEE ST
9A1H L 7-400m A FUEQ2) 1:01.20(#kH FHk(2) 1:01.31 (48 227(1) 1:04.58|/N g 3EHi#E(2) 1:04.79| & IR Od(1) 1:05.27 [#efifE B4z=(2) 1:07.47 [FALH A1) 1:08.48[bE &) 1:12.55
RIS I PR HIKIT A BT I i e B RIS
WA Eh(2) 2:36.08 & IR OVe(1) 2:39.82|1ek FUZ=(2) 2:49.74
SASLRL JF800m o e g P g
9A1H L T1500m 4 EHRNQ) 5:10.60 | £EJ 1B H 7iE(1) 5:13.71 |17 (1) 5:13.74|AAK  EH(2) 5:25.24| K1 HkT(2) 5:36.69 |V % KE072(1) 5:45.16|)I1F FA&(1) 6:14.32
RIS BRI MR I i v P Filll e MR
SH3LH 4 73000m 4 EHRNQ) 11:02.91| BB A (1) 11:10.68|/HEEF  Hi#0(2) 11114377 H 41 11:16.24 | 2 AE07(1)  12:02.08| KM HE7(2) 12:08.47 k1L 3EHE(2) 12:33.61|)IIFT &1 13:27.90
RASHE & BRI R BT REm HIpE T2 P o R PG
9A1H 4 F-100mH N R (2) 16.51[A=SE Befd(2) 16.57 [ {5 3 (1) 18.07|# M #§(1) 18.94
(0.838m) JI:-2.2 | gkt BT ISR B HIpsHIbE s
ARF BEAL(2) 1:10.43| Kar&bH72(1) 1:12.60
BASLAL BP0l g YT P
JEEEF FT(2) 27:53.01[FFL 3EH4E2) 38:44.55
9A1H 22§-5000mW " e
B TR 52.77 [§I #1915 53.27| A EL R 55.10
ARSE WeAL(2) HARLDA() Vel H#©2)
8HA3IH| Zc74X100mR  [AH 2EF(1) /it 7 (2) s (D
FIROARD(1) A 3£BLH2) KAy HET-(2)
A hEEQ) I ) &8 722(1)
RIS 4:19.07 | ST 5 4:29.48 | $I W = 4:30.67
& ) ARE Deh(2) HARLDA()
9H1H LF-4X400mR | H AR E(2) ANEs SEHEQ) /it 7 (2)
4 EHEWQ) ENERE= ) A EH2)
LA FUE2) FHIROZRD() B w0
8A3IH T Rl JEAEQ) 1m46 [ & B (2) 1m40 | JEH IS L(2) 1m35|80A B54a(1) Im30( s BERE) Im30[¥EiE B 1ml15
SIEE AL BB RE 2] BT B P I A
9l 1H Lotk A EBL2) 4m88(+1.5)[/N e EHiE(2) 4AmTT(+1LA)[EH BFE2) 4mb6(+2.9) (M (1) 4m25G+ 1A [ILAS BRI 4m01(+0.8)| = H k(1) 3mB8O(+1.2)|H-BF EM#E(1)  3m49(+1.7)
SIEE I = BT BIKALBSE AFRAmB5(+1.5) | HIHE B SR PR AR
8H31H R LA e AR 9m38| R FH (1) 8m90 [ #H H7(2) 8mb9| Tk HLY(2) 8m37|FuiR HEE(2) 6m20
(4.000kg) B b PR SRR TR
9A1H Lo T ERE2) 29m78| ik Hyb(2) 2Tm87 | E RE(2) 24m80| s FE (1) 24m47 [ KIERYBEZR(2) 21m46|EH &) 20m87|BsF Akl 16m38
(1.000kg) IR BRI e SRRV A PR R
8H31H o0 R BRE2) 34m25| B REH2) 31m64(H 5 FERE() 26m48| BT AK(1) 23m69| = I k(D 21m7L|Fns FEE(2) 17m84 |/ 3EHE(2) 15m 14| EREL I 3E(T) 9m59
ST T PR P PR B e BRI R




